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Questions

1.
An object 2 cm high is placed 12 cm from a converging lens of focal length 4 cm. 
Draw a ray diagram on graph paper (full size) to find the position, size and nature of the image.

2.
An object 2 cm high is placed 9 cm from a converging lens of focal length 6 cm. 
Draw a ray diagram (full size or 1/2-scale) to find the position, size and nature of the image.

3.
From your diagram for Question 2, 
a)
Find the magnification  = 
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b)
Find the value of  
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c)
What do you notice?

4.
An object 1 cm high is placed 4 cm from a magnifying glass of focal length 5 cm. 
Draw a ray diagram on graph paper (full size) to find the position, size and nature of the image.

Convex (converging) lenses - 2
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